. 3
L L —tys =20 :
Which graph represents the solutlon set of the inequality ~ 3 :
7\ . f
a— iﬂ ’? il
2o & Dy
o, “”':;f uE & 2-
@ - L L
B.
c. ¥ )
T
2l
F EREELE .x‘? y
D.




2. Which graph represents the solution to the system of Inequalities?

LT
VOIA

'
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3. Which graph best represents the solution to the system of linear inequalities below?

"315—':?.}‘:‘14' 3){‘_—]“ )1\4 5}(%2\;}4{‘!{)

Sx+4'2v <10

A 3 Y -7 T £rSaetn
. . IREENE| ””|v) PR R L £ A

. .
5 il ek

W L }";{ 4 A oas

B
LY "k
-
T
Iy
4]
i, p
=
B L~
5 & -+

EYTTIETIN

PR I
v
3
.l
(™

b

F}
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4. Charles has a budget of $75 to spend on a combination of music downloads and DVD rentals. Each music
download costs $1.00 and each DVD rental costs $2.50. This information can be represented by the
inequality bhelow:

100m +2350+ <75
where m represents the number of music downloads
v represents the number of DVD rentals

Which graph represents the possible combination of musié: downioads and DVD rentals Charles could
choose and stifl spend no more than $75?

S S

o
80

A= =3

50
40

30 <t
20
10

Number of DVD Rentals
Number.of DVD Rentals

9 ik 20 B0 40 50 63 70 @ 10 20 30 405080 %0
Number of Music Downloads " Number of Music Downloads:
B. Y D. H

e

Number 6f DVD Rentals
&

Number of DVD Rentals

> ol i KR R . 5 oo
_ L v e e T ; . > I
¢ 10° 20 30 40 50 60 70 ¢ 10 20 80 40 50 50 70, '
‘Number of Music Downloads: Number of Music Downloads.
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5. What is the solution for y in the inequality (2% + 4) £12-

rE-12 W{a_w‘;»- DA %‘E.’\%sg
' 1n 3 }

i B

c. y=-—4 5

D. r=<0 b}},"

6. The suggested retail price per bottle of dish soap, y, is determined by the volume in liquid ounces, X, as
shown below.
¥=035x-04805x~2)
If the suggested retail price of a bottle of dish soap is $4.08, what Is the bottle's velume in ounces?
.08 = 0.5~ 0.5 (05%-2)

- LSO E RS p Iy a0
g. 30 . H,0% % bbby 40,84
B, 2hw = 400
X212

7. Foreach cable service installation Joshua completes, he eams $50 plus 40% of the fee paid by the customer,
One installation took 2.5 hours to complete. Joshua’s pay of d dollars per hour worked is based on tha
customer’s fee of F dollars plus $50. This is represented by the equation below.

23d=04F+30
Which equation shows the amount Joshua sarned per hour If the customer’s fee was $407

AL 2.54 - {3 py 5
= S _ \u+5v

!

k!
3
o,

C. d.:lﬁ_-F—_
v 23

D. . _15 L

S 8. Which set of inequalities describes all the solutions of—4 < x + 2 < 37

A {xrxborx<l} -2 =12
> -6andx < 1} ~C 4 x <)

. o ra” ¥ .
cC. {x<‘6_orx{l, ?(\>”L, av:'?(i }‘:Ai

D. fx<6amdx<l)

9. The Esteban family will order one t-shirt for each person who attends their family reunion, The cost is $6.50
par t-shirt plus a one-time printing fee of $35.00. This can be represented by the equationt = $35n+35,
where ¢ represents the total cost of the shirts and n represents the humber of shitts ordered. If the family
¢an sperd no more than $2,000.00 on t-shirts, what is the maximum number they can order?

A0 | | b, 5n+35 £ 2H00
" o -' biSer £ V945
C. 308 o )
B %8 L £ 3p23nkA73 40 N 2902

10. Which values of xin the setl=. 0. 8.9, 10. 14 e soiutions to the inequaliy26< — 4} < 107
A §10,343 Zy 8 4D
B {5.10,14) ' 2x g
© 1-5.0.38] NG

D. {-5,0.8.9}



,‘:-fr 11. A system of equations is shown below.

{25 - y=3

x+3y=0
Which statement is true regarding this system?
A To Solve the systém, multiply the second equation by 2 and then add the result to the first equation.
To sohve the system, multiply the first equation by 3 and then add the result to the second equation.
C. The system has no salution since the second equation is equal to 0.
] D. The system has infiniiely many solutions since the second equation is equal to 0.
Sk 12. A system of equations is shown below.

4x-:-1:—§
% 3y= 18

if the first equation is multiplied by a constant and the result is added to the second equation, which equation
could result?

At

A —lix=-6 .
B. —2y=26 ’
Ty=44

1dx= 42

13. Chun wants to solve the system of equations below.

X+ =—1
2+ Tp= 4
Which process shows Chun comectly solving the system of equations?
A D+ 2p=—13 C  x+2u=-1
—@xrTr=dy -

. Bt

—l{x—l-’?m——l}
Xx+Ty=4

Bx—dy=2
T .f:l-? 4-

¥=2

x+22)=-1-
xt 4= -1

h x=-1-4

y=— x==3



14, What is the x-coordinate of the point of intersection for the two lines below?

P 8}" =—-6 RN :{‘3?&!} -3'%-&:*’ ‘}i}?\&“%é‘;m E 1 ¥~ b gﬁg} -
x—10p=2 3( bx ¥§ ;vLE -y v Thw %g Uy 3y = 9

‘5 g-.h(‘m“% oﬁ) i’f’;*;iiﬁi:’__/ Ty =21

x=->

D: 7 O:—g

15, A factory has 203 workers. There are 70 more males than females. Let x represent the number of males and
lety repr'esent the number of females. Which system of equations represents this situation?

. x+ v— 203
T x=yET0
x+3=203
y=x+ 7@
C. x-+p=203
Clx =Ty
0. x+$2203
S y=Tkx

16. Using substitutlon, what is the solution for the system of equations below?

=2 EETEARE
9730

A (3 ' web-

B {24 w S

© as , )

. (52

17. What is the y-coordinate in the solution of this system of equations?

I EE
Sx+4r=71 - z%)é' } k
.4(5x+"v—13 S VI
7y b
“F >
18. Which point is a solution to the system of inequalities below?
T 5 L7 B 2lxysz 2
iye12 A) 2{)vs <v2 AN
S L T . I v 2 o HE
83:—?3;}4 ’ ' Faerr o« GEVE 4
A .3 "-—'» i s A
Ezzi R TPAPIE Y %(;}‘}—7(3) 7
'+ . %}‘ :]’ ?,$ Y. ay% T %
C. 44 : 2y 3
gy A R
D. (5.5 P s



19. A movie theater has 225 people. There are 118 more adufts than children in the theater. Let x represent the
number of adults and let ¥ represent the number of children. Which system of equations represents this

situation?
A EXEyp=22%
Sp=110x
B. x+y=225
x=110p
x+i=205
x=v+ 110
D. x-+y=3225

F=x+110

20. 3.1 ¢

X+ ===
A student will sobve for the value of x in the equation 3 3 Tintwo steps. Which of the following
describes the step that is the most appropriate for the student fo use first?

A 4
Add o both sides of the equation.
B, 3
Multiply each side of the equation by 5
C. 1
SubtractEfrom both sides of the eguation,
D. 3

Subiracl_ifrom both sides of the equation.

*'21. Which property does the equation below illustrate?
D =gy
A distributive property
identity property

B.
@ commutative property
D, associative property

22, An athletic booster club is ordering drinks and chips to sell at a football game. The club treasurer uses the
equationc = 3.3d + 2530fo determine d, the number of cases of soft drinks the club can order if $250.00 is

spent on chips, the total cost {¢) is known, and each case of soft drinks costs $3.50. Which equation is
equivatent toc = 3 54+ 2507

A ©+33d4=250
B. <-+33=230d
C. ¢+250=335d

¢-250=3.5d

F}
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